RESOLUTION NO.	

A RESOLUTION OF THE COUNCIL OF THE CITY OF FRESNO ADOPTING THE 571st AMENDMENT TO THE MASTER FEE SCHEDULE RESOLUTION NO. 80-420 TO UPDATE WATER RATE PENALTIES RELATING TO CONDITIONS OF SERVICE WORK UNDER THE PUBLIC UTILITES SECTION

BE IT RESOLVED by the Council of the City of Fresno as follows:

THAT the Master Fee Schedule Resolution No. 80-420 be and is hereby amended to adjust various fees under the Water Division of the Department of Public Utilities section. The revised pages of the Master Fee Schedule are attached as Exhibit "A" and are hereby incorporated by reference and made a part of this Resolution.

THAT the fees adjusted by this RESOLUTION shall become effective upon approval, unless otherwise noted on the revised pages of the Master Fee Schedule.

1 of 2

Date Adopted: Date Approved: Effective Date: City Attorney Approval:



STATE OF CALIFORNIA COUNTY OF FRESNO ) ss. CITY OF FRESNO I, TODD STERMER, City Clerk of the City of Fresno, certify that the foregoing resolution was adopted by the Council of the City of Fresno, at a regular meeting held on the \_\_\_\_\_, 2024. AYES: NOES: ABSENT: ABSTAIN: Mayor Veto: , 2024
Council Override Veto: , 2024 TODD STERMER, CMC City Clerk Deputy Date APPROVED AS TO FORM:

Senior Deputy City Attorney

Jennifer M. Quintanilla

ANDREW JANZ
City Attorney

By:\_\_\_\_\_

Attachment: 571st Master Fee Schedule Exhibit A

Date

## **EXHIBIT A**

## CITY OF FRESNO MASTER FEE SCHEDULE

## **PUBLIC UTILITIES DEPARTMENT**

Fee Description & U					Current	<b>Proposed</b>	Amnd
Penalties (continued	i)						
Fire hydrant damag	e repair fee						
Excavation not required					725.00		57
Excavation required					100%		50
Delinquent notice							
•	nnection defe	erred paymer	nt plan 60 day	/s	2.00 +		
Sewer connection, deferred payment plan, 60 days delinquent					accumulated		
domiquoi					interest &		
					principal		
					installment		
Returning travel me					10.00	<b>-</b> .	
Conditions of service Violation of Water Co	•				4:£\\/-4	Text	57
		_	ic 6-520(e)-		tice of Water		540.55
First Month with Incident  Second Month with Incident  25.0							<del>549</del> 57
	nth with Incid				<del>25.00</del> <del>50.00</del>		57 57
THILL IVIC	<del>mun wun mou</del>	<del>UIII</del>			<del>00.00</del>	Delete	31
Eourth M	onth with Incid	dent			100.00	Delete	57
	onth with Inciduals		<del>ident</del>		<del>100.00</del>		
	enth with Incidudgh Twelfth M		<del>ident</del>		<del>100.00</del> <del>100.00</del>		
	ugh Twelfth M	lonth with Inc		WSCP	100.00		57 57 57
			ident WSCP Stage 3	WSCP Stage 4		Delete	57
	ugh Twelfth M WSCP	lonth with Inc	WSCP		100.00	Delete	57
Fifth thro	WSCP Stage 1 Notice of water waste	WSCP Stage 2 Notice of water waste	WSCP Stage 3 Notice of water waste	Stage 4 Notice of water waste	WSCP Stage 5 Notice of water waste	New New	57
Fifth throu	WSCP Stage 1 Notice of water waste issued	WSCP Stage 2 Notice of water waste issued	WSCP Stage 3 Notice of water waste issued	Stage 4 Notice of water waste issued	WSCP Stage 5 Notice of water waste issued	New	57
First Incident Second Incident	WSCP Stage 1 Notice of water waste issued 25.00	WSCP Stage 2 Notice of water waste issued 50.00	WSCP Stage 3 Notice of water waste issued 75.00	Stage 4 Notice of water waste issued 100.00	WSCP Stage 5 Notice of water waste issued 125.00	New	57
First Incident Second Incident Third Incident	WSCP Stage 1 Notice of water waste issued 25.00 50.00	WSCP Stage 2 Notice of water waste issued 50.00 100.00	WSCP Stage 3 Notice of water waste issued 75.00 150.00	Stage 4 Notice of water waste issued 100.00 200.00	WSCP Stage 5 Notice of water waste issued 125.00 250.00	New New	57
First Incident Second Incident Third Incident Fourth Incident	WSCP Stage 1 Notice of water waste issued 25.00 50.00 100.00	WSCP Stage 2 Notice of water waste issued 50.00 100.00 200.00	WSCP Stage 3 Notice of water waste issued 75.00 150.00 300.00	Stage 4 Notice of water waste issued 100.00 200.00 400.00	WSCP Stage 5 Notice of water waste issued 125.00 250.00 500.00	New New	57
First Incident Second Incident Third Incident	WSCP Stage 1 Notice of water waste issued 25.00 50.00	WSCP Stage 2 Notice of water waste issued 50.00 100.00	WSCP Stage 3 Notice of water waste issued 75.00 150.00 300.00	Stage 4 Notice of water waste issued 100.00 200.00	WSCP Stage 5 Notice of water waste issued 125.00 250.00	New New	57
First Incident Second Incident Third Incident Fourth Incident	WSCP Stage 1 Notice of water waste issued 25.00 50.00 100.00	WSCP Stage 2 Notice of water waste issued 50.00 100.00 200.00	WSCP Stage 3 Notice of water waste issued 75.00 150.00 300.00	Stage 4 Notice of water waste issued 100.00 200.00 400.00	WSCP Stage 5 Notice of water waste issued 125.00 250.00 500.00	New New	57
First Incident  Second Incident Third Incident Fourth Incident Fifth or more Incident  Illegal connection /	WSCP Stage 1 Notice of water waste issued 25.00 50.00 100.00	WSCP Stage 2 Notice of water waste issued 50.00 100.00 200.00	WSCP Stage 3 Notice of water waste issued 75.00 150.00 300.00	Stage 4 Notice of water waste issued 100.00 200.00 400.00	WSCP Stage 5 Notice of water waste issued 125.00 250.00 500.00	New New	57
First Incident  Second Incident  Third Incident  Fourth Incident  Fifth or more Incident  Illegal connection / (See Serreinstallar)	WSCP Stage 1 Notice of water waste issued 25.00 50.00 100.00 per violation vice Work for tion of service	WSCP Stage 2 Notice of water waste issued 50.00 100.00 200.00	WSCP Stage 3 Notice of water waste issued 75.00 150.00 300.00 300.00	Stage 4 Notice of water waste issued 100.00 200.00 400.00	WSCP Stage 5 Notice of water waste issued 125.00 250.00 500.00	New New	57
First Incident  Second Incident Third Incident Fourth Incident Fifth or more Incident  Illegal connection / (See Serveinstallar) Delinquent Paymen	WSCP Stage 1 Notice of water waste issued 25.00 50.00 100.00 per violation vice Work for tion of service t	WSCP Stage 2 Notice of water waste issued 50.00 100.00 200.00 disconnection after first ince	WSCP Stage 3 Notice of water waste issued 75.00 150.00 300.00 300.00	Stage 4 Notice of water waste issued 100.00 200.00 400.00	WSCP Stage 5 Notice of water waste issued 125.00 250.00 500.00	New New	57 57
First Incident  Second Incident Third Incident Fourth Incident Fifth or more Incident  Illegal connection / (See Serreinstallat) Delinquent Paymen Utility billi	WSCP Stage 1 Notice of water waste issued 25.00 50.00 100.00 per violation vice Work for tion of service t ngs / per billir	WSCP Stage 2 Notice of water waste issued 50.00 100.00 200.00 disconnection after first income	WSCP Stage 3 Notice of water waste issued 75.00 150.00 300.00 300.00	Stage 4 Notice of water waste issued 100.00 200.00 400.00	WSCP Stage 5 Notice of water waste issued 125.00 250.00 500.00	New New	57 57
First Incident  Second Incident Third Incident Fourth Incident Fifth or more Incident  Illegal connection / (See Senreinstalla) Delinquent Paymen Utility billi and/or so	WSCP Stage 1 Notice of water waste issued 25.00 50.00 100.00 100.00 per violation vice Work for tion of service t ngs / per billir lid waste serv	WSCP Stage 2 Notice of water waste issued 50.00 100.00 200.00 200.00 disconnection after first incoming for water, spice	WSCP Stage 3 Notice of water waste issued 75.00 150.00 300.00 300.00	Stage 4 Notice of water waste issued 100.00 200.00 400.00	WSCP Stage 5 Notice of water waste issued 125.00 250.00 500.00 45.00	New New	57
First Incident  Second Incident Third Incident Fourth Incident Fifth or more Incident  Illegal connection / (See Senreinstalla) Delinquent Paymen Utility billi and/or so	WSCP Stage 1 Notice of water waste issued 25.00 50.00 100.00 per violation vice Work for tion of service t ngs / per billir	WSCP Stage 2 Notice of water waste issued 50.00 100.00 200.00 200.00 disconnection after first incoming for water, spice	WSCP Stage 3 Notice of water waste issued 75.00 150.00 300.00 300.00	Stage 4 Notice of water waste issued 100.00 200.00 400.00	WSCP Stage 5 Notice of water waste issued 125.00 250.00 500.00	New New	57 57